RIVER VALLEY PRIMARY SCHOOL
2019 PRELIMINARY EXAMINATION
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STANDARD SCIENCE
{(BOOKLET A)
Name : _ { ) Date : 27 Auqust (Tue)
Class : P Time: 1 hour 45 min

INSTRUCTIONS TO CANDIDATES
1. Write your name, index number and class in the space above.
2. Do not turn over this page until you are told to do so.
3. Follow all instructions carefulty.

4. Answer alf guestions.

5. For Section A, shade your answers for questions 1 to 28 on thé- Optical Aﬁswer Sheet
(OAS). | '

6. For Section B, write your answers for questions 29 to 40 in the space provided.

7. The total marks for Booklet A is 56 marks.
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Section A (56 marks)

For each question 1 to 28, four options are given. One of them is the correct answer.
Make your choice (1, 2, 3 or 4). Shade the oval (1, 2, 3 or 4) on the Optical Answer
Sheet,

1. The diagrams below show the respiratory systems of two organisms.

\ E
Organism X Organism Y

Which parts of organisms X and Y allow the exchange of gases to take place?

Organism X Organism Y
(1) A D
(2) C D
(3) C E
(4) B £
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2.

Study the table below.
Function Parts of the digestive system
W X Y Z
Food enters the bloodstream y
Food is mixed with digestive juices | N ¥
Water is removed from food ¥

(1)

W

(3)

(2}

z

(4)

Which of the following correctly shows the parts fabelled W, X, Y and Z?

Key
¥ : present
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Jason placed fwo cells, X and Y, into separate containers. Each container contains equal
amounts of substances Rand S.

S i S
R P n
s " s &S
L Part "
M R
® :
s
R
R S R s s
4
R s R ° 5 R s R 3 s
R R
Celt X ' CellY
The diagram below shows what happened to the two cells after an hour.
R R s s
R R ]
Part 1
M
& ] R 5 s b3
R
Cell X : CellY

What can Jason conclude about Part M7

(1) i gives the cell a shape. -
(2) 1t controis all activities in the cell.
(3) it controls the type of substances that leave the cell.

(4) It controls the type of substances that enter the cell.
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4. The picture below shows a crocodile that is in the water, waiting to catch its prey.

eyes scales

ciocodile

wafer

Wiich of the following correctly describes the crocodile’s behavioural and structural
adaptations in catching its prey?

Behavioural Adaptation Structural Adapiation
(1} | Scales as outer covering Staying stilt in the water
(2) | Staying still in the water _ Eyes on top of its head
(3) | Eyes ontop ofits head Scales as outer covering
(4) | Staying still in the water Scales as outer covering
Page 4 of 50
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5. Observe Fish X and Fish Y as shown below. Fish X is non-poisenous and Fish Y is

poisonous. Fish Y has poisonous spines on its back. Predators avoid Fish X as they
mistake them for Fish Y.

spines

Fish X {non-peoisonous) _ Fish Y (poisonous)

Which of the following statements describe Fish X and Fish Y?

A: The spines on Fish X wam predatoss to stay away.
B: Fish X and Fish Y hunt for the same type of animal for food.
C: The spines on Fish Y allows it to move faster in the water.

D: The spines on Fish X and Fish Y are a form of structural adaptation.

(1)
(2)
(3)
{4)

A and B only
A and D only
C and D only

- Band C only
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B.  Meiling built a pond beside a garden.

i l

garden
vy,
i, : A,
QM%/' \\hﬂf’ﬁsﬁ f?;’//

iz

~ She observed three types of animals - frog, mosquito and butterfly living in the garden.

The number of days needed for their egys to hatch is shown below.

Characieristic frog

mosduito

butterfty

Number of days needed for eggs to hatch 6

2

On Day 5, what would Daniel most likely find in the pond?

{(t)
(2)
(3)
(4)

Mosquito eggs and frog larvae

Mosquito larvae and frog eggs

Mosquito eggs, frog larvae and butterfly eggs
Mosquito farvae, frog eggs and butterfly farvae
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7. The diagram shows the direction of blood flow in parts of the human circulatory
system,

¥
us/

X Y
The same amount of blood was taken from W, X, Y and Z. The charts betow show
the comparison of the amount of carbon dioxide.in the blood samples.

i A

Amount of | Amount of
carbon dioxide | carbon dioxide
W X Y
blood samples blood samples
What are A, B and C?
A B 1 C
(1) |lungs heart other parts of the body
(2) |heart jungs other parts of the body
(3) | other parts of the body | lungs heart
- {4) {other parts of the body | heart lungs
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8 The diagram below shows four sealed test-tubes, W, X, Y and Z, placed either in

a wooden box or under the sunlight. Each test-tube contained the same amount
of pond water.

wooden box ——

pond water

water plant

7 P o B L
(] tube W fube X
B RS

wafer snail

o ¢

N L W W N W

%
1
/1
%
/]
L
A
A
/|
4
/
7

\

II/I[_I L L LEL L

b

tube Y

K

\

e
4

sunlight
/ .
g
e

N

tube z

a

sunlight

7

/

Which of the following test tubes,W, X,Y or Z , shows the most oxygen and carbon
dioxide after three hours?

(1)
(2)
(3)
(4)

Most oxygen | Most carbon dioxide
X Y
Y W
Z w
Y X
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9.

Timothy placed a set-up in the field as shown. The datalogger detects the amount of

oxygen in the sealed glass container. The results are recorded cover a period of 18

plant —

plastic bag —

glass container

datalogger

Sefup

sensor

Which of the following graphs shows the amount of oxygen detected?

(1)

Amount of
Oxygen

: .
H H

4 H H
: H

'

H

-

: H

(2)

1
»
3

'y o
v Lol

Bam 12pm 6pm 12am Time

(3) Amaount of
Oxygen

[

LR LY LR T Y T LY YR LRy )

r w8 SARAEAEIRSEREBSIREUR SN

(4)

assdevannin

“ameu s

LT TR Y P IY

L .

gam 12pm ©Opm 12am Time
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10. Samu observed some organisms at different places in his school. He recorded his
observations in the table below.

Organisms living and reproducing at

fish tank pond field
2 gold fish 3 tadpoles 3 caterpillars
2 frogs 2 butterflies
2 hydrilla plants

Based on the table above, which statement is correct?

{1) There is 1 population in the field.

(2) There are 3 organisms in the pond.
(3) There are 14 populations altogether.
{4) There are 4 communities in his school,

Page 10 of 50
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11. Nancy conducted an investigation to find out about four organisms, P, Q, R and
S. She divided a rectangular tray into four sections, A, B, C and D, and placed the

same number of organisms at the centre of the tray.

dark and damp

dark and dry

bright and damp

—— bright and dry

After thirty minutes, the number of organisms found in each section of the tray was
recorded below.

Number of organisms in each section
Organism A B Cc D
P 3 0 27 0
Q 28 1 0
R 0 2 28
S 29 1

Which organism(s) isfare most hkely tobe found msade a mmng tree trunk habztat '
as shown above?

(1}
(2)
(3)
(4)

P only
Q only
Q and R only
R and S only
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12. The diagram below shows a food web. P, Q, R, S and T represent different living

O\
N/

Which of the following is a correct conclusion?

{1) Sis adecomposer.

(8) Pis both a predator and a prey.

()f} Energy from the Sun is transferred to T, Q and S only.

{4} When the number of S decreases, the number of Q increases.
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13. The diagram shows a plant. The outer layer of the stem between X and Y is removed,

The diagram below shows the stem after a few days.

Which statement explains why part X swell up after a few days?

(1) The food canrying tubes were removed.
(2) The water car}ying tubes were removed.
(3} The leaves could not photosynthesize. .
~(4) The roots could not absorb water for the plant. - -
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www.TestPapersFree.com



14. The diagram below is a representation of human's aclivities and the effects on the

environment,
g soil N\ Difficult for new
= = exposed | ;] 7 plants to grow
to rain

fewer trees

@H more carbon dioxide in the air

more heat from the ' .
Sunistrapped ——» o — 5 sealevel increases

What do A, B, C and D represent?

A B Cc D
(1) i . burning fossil . .
soil erosion deforestation globat warming
fuels .
( 2) | deforestation { soit erosion global warming | buming fossil fuels

{3} | soil erosion | deforestation global warming | buming fossil fuels

(431

buming fossil

. lobal warming -
1 fuels 9o .

deforestation | soit erosion
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15. Minnie made holes at the base of a can as shown in the diagram below. The canis hung

on a string. Water is then poured into the can from the top. As water spurts out of the
can, it starts to spin.

string
water is poured in %‘
........... : '

Ny

hole-__|

water spuits out

The can spins because

(1) potential energy of the water is converted to kinetic energy of the can
(2) kinetic energy of the water is converted to potential energy in the can
(3) kinetic energy of the water is converted to kinetic energy of the can
(4) potential energy of the water is converted to potential energy of the can
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18. Maria set up the experiment as shown below.

glass

waler droplet

small container with tiny holes

wet sand

pot

She placed the set-up in a hot place and water droplets can be seen.

Which of the following statements about the set up are true?

@

N
@

@

(4)

water in the wet sand lose heat
water in the wet sand evaporated

water vapour condensed on the glass

~ Aonly

Aand B only
Band C ohly
A BandC
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17. Which of the following correctly shows how trees play a part in the water cycle?

Water vapour Treos
I————» Rivers and seas |«
> Clouds
(2} {
Water vapour Trees
1 I
Rivers and seas
[ > Clouds e
( 3 ) A
Water vapour Trees
» Rivers and seas |¢——
(4) > Clouds P
Water vapour ’ Trees
t I
Rivers and seas
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18. Ben placed two simiiar glass containers with equal amounts of water at 90°C at the same
location.

Ny ~ plastic ___w._ -~
sheet \W

glass

container

water
at 90°C

‘waterat__|..
80°C

cup to
collect
water

. Based on the set-up, Ben wants to find out if

(1) condensation occurs at 90°C

(2) ice melts at a higher temperature

(3) rate of condensation increases with ice
(4) rate of evaporation decreases with ice
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19. Becky was given a beaker with some balls. She poured 500 cm? of water into the beaker.

She measured the height of the water to be at 14cm as shown in the diagram belom.

1dem

Becky prepared similar beakers, X and Y, with the same number identical balls.. She
added 500 cm® of Liquid M into beaker X and 500 cm? of sand into beakers Y .

BeakerY

Which of the following could be the final height of Liquid M and the sand in beakers X and

Y

(1)
(2)
(3)
(4)

Beaker X BeakerY
15 em 13 cm
14 cm 14 em
14 cm 15 cem
15 cm 14 cm
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20. Dinesh bought a packet of milk tea with pearls. He placed it into a mug without overflowing
as shown in the diagram below.

A packet of milk’
tea with pearls

Which of the following statements about the packet of milk tea are correct?

A: Both the shape and the volume of the pearls did not change.
B: Both the shape and the volume of the milk tea changed.

C: The volume of the milk tea did not change.

D: The shape of the milk tea did not change.

(1) Aand C
(2) AandD
. (3) BandC
(4) BandD
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21. Jenna carried out an experiment to find out if the position of an objéct would affect the
length of its shadow on the screen. The experiment was set up as shown in the diagram
below.

’ﬂ
H
i

10cm

object

>
-
-

- ‘; L/
| i
A 2 C

E screen
Jenna observed that when she placed the torch at Position B, the object makes a shadow

of 10em. She then placed the torch at different positions and recorded her findings in the
table below.

Which set of data is correct?

Position of torch Position of Object Length of shadow
(1) A D 11cm
(2} B F _ | Gem
- (3) c N gom
(4) B < © %om
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22. Marie has two containers made of different materials. She filled the containers with
the same amount of liquid X.

thermometer

liquid X at liquid X at
100 °C 100 °C

container made of container made of
material P material Q

She measured the femperature of liquid X in the two containers over some time
and recorded the results in the graph below.

temperature -
A material P

S material Q

S

: ‘:!'ime
Which material(s) should she choose to keep cold drinks cool and a hot drink warm
for the longest time?

Ta keep cold drinks cool | To keep hot drinks warm
(2) Q Q
(3) P Q
(4) Q P
Page 22 of 50
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23. Cyclists wear helmets to protect their heads when they cycle.

helmets

Based on the properties shown below, which material is the most suitable for the helmet
to keep cyclists safe?

Property
Material strong | smooth | flexible | ability to «ilfiis
fioat
(1) A v X d X X1 no
(2) B v y X X
(3) C v X X v
(4) D X v ¥ v
Page 23 of 50
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24. A compass has a small magnet that can rotate freely as shown.

norih pole of a
small magnet

Penny prepared the set-up as shown below. Magnets X and Z were placed on plastic

stands, while magnet Y was placed on a plastic board with wheels. Penny pushed

magnet Y towards one of the magnets and observed that magnet Y moved between the

two magnets continuously.

plastic board
magnet X Withwheels magnety magnet Z

A B c

o (=)~ ]

table \ plastic stands /

Which of the following statements is correct?

(1)
(2)
(3)
(4)

Pole A of magnet X repels pole C of magnet Z.
Pole B of magnet Y atiracts magnet Z.

Pole C of magnet Z is a north pole.

Pole C of magnet Z is a south pole.
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25. Colin set up a circuit as shown below.

X

Switch C

.____._.,.®_

Switch B
__®__{M___
& o

1 SwitchD

v

Switch A

All the bulbs were lit when all the four switches were closed. He wanted the most number
of bulbs to light up when only one switch is open. Which switch should he open?

(1) AorB
(2) BorD
(3} AorC
(4) CorD
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26. Varun constructed 2 electrical circuits, X and Y. He then measured the intensity of Bulb A
from Circuit X and Bulb B from Circuit Y. He recorded the intensity of the bulbs as shown.

Light 4
intensity (iux)

* Bulb
A B
Which one of the following correctly matches the arrangement of the circuit with the
intensity of fight?
Circuit X CircuitY
(1 |
1L
8L

2) !l I|t|
i {1
A® a®;.
Y = ]
X

@ |
[ 1

m

&
X
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27. The graph below shows how the length of two springs, Q and R, changed when different
amounts of mass were added to each spring.

length of

spring {(cm)

F 3

=
———
-

-
o e

_4-"--
A
—————
Lt
-
-

20

40

™ mass hung on the spring (g)
60 80

Which of the following statements are correct?

A: The original length of Spring R is longer than that of Spring Q.
B: The original length of Spring R is shorter than that of Spring Q.

C: When a 40 g mass was hung on both springs, their lengths became the same.

D: When a 40 g mass was hung on both springs, the length of Spring G was more than

that of Spring R.
(1) AandC
(2) AandD
(3) BandC
(4 BandD
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28. Ray added blocks X and Y one at a time fo the base biock. When he added the third block
£, the blocks Y and Z fell to the ground, leaving X stuck to the base block.

Base block

X was added ™™ Y was added =P Z was added

Which one of the following is the reason why the two biocks, Y and Z, fefi?

(1) The weight of Z was greater than the weight of Y.

{2) Friction between X and Y was less than the weight of Y and Z..

(3) The weight of Y and Z was greater than the weight of X and Y. _
(4} Friction 'between X and the base was iess than the weight of X, Y and Z.

~ End of Booklet A ~
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RIVER VALLEY PRIMARY SCHOOL.
2019 PRELIMINARY EXAMINATION

PRIMARY 6
STANDARD SCIENCE
{(BOOKLET B)
Name : { ) Date : 27 August (Tue)
Class : P6 Time : 1 hour 45 min

INSTRUCTIONS TO CANDIDATES

1. Write your name, index number and class in the space ahove.
2. Do not turn over this page until you are told fo do so.
3. Follow all instructions carefully.

4. Answer all questions.
5. For Section A, shade your answers for questions 1 to 28 on the OAS.
6. For Section B, write your answers for quéstions 29 to 40 in the space provided.

7. The total marks for Booklet B is 44 marks.

Booklet A

56

Booklet B
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Total

Parent’s Signature;

100
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Soction B {44 marks)
Write your answers {o questions 29 to 40 in this booklet.

29. John grew some seeds of a plant on four trays inside a room. The experimental

condifions and results are shown below.
Tray { Sail Presence of light | Appearance of seeds on Day 5

A} d no
! o © O

| ¥

C dry yes

o © O

|

(a) Which two sets of trays should John select if he wanted to find out whéther water is

D wet yes

required for germination?. [1m]

(k) From Day 5 to Day 15, the plants in Tray D grew taller than the piants in Tray B.
Explain why. [1m]

Page 29 of 50
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30. Weeds are plants which are not wanted by farmers. A farmer observed weeds and
dead leaves around his vegetables in his garden as shown below.

weeds

vegetables

dead leaves

The dead leaves provide nutrients for the vegetables.

(a) Describe how the dead leaves provide nutrients for the vegetables. [1m]

(b} The farmer cobserved that the vegetables decreased as the weeds multiply too

quickly. Give a reason for the observation. {1m]

Page 30 of 50
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31.

(a)

Organisms A and B are found on istand H and the food relationship is shown below.

A volcano on island H erupted and filled the air around the island with dust.

The graph below shows the amount of sunlight covering island H for 4 months after

the eruption.

Amount of suntight

A

[

1 2 3 4 Time (mth)

Predict whether the poputation of A will incre_ése, remain the same or decrease in

the first month after the eruption. Explain ydur answer. [1m]
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Atfter the volcanic eruption, the soil becomes fertile for plants to grow. The graph
below shows how the population of A and B changes after the voicano erupied.

Population
A

Tt 2 3 4 Time (mth)

(b)  Explain why the population of B starfed increasing one month after the population of A

increased. [1m]
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32. The diagram below shows trees that live near the sea. They have tail roots that rise

above the water.

frees

tall roots

s0il

fish

When the water levet is low, the roots are exposed. When the water level is high, part

of the roots are submerged in water.

(a) Give a reason why the tall roots need to rise above the water. [1m]

(b} Soillerosion_ happens when the soil is washed away by‘ water. Explain how the trees

help to prevent soil erosion. [1m]
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(c)  State how the roots help the fish to escape from their predator. {1m]
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33, Selma conducted an experiment o see how temperature changes with the depth of sail
using the set-up shown below. After the lamp had been turned on for one hour, Seima
recorded the temperature of the soil at points A, B and C using a temperature sensor.

tamp
) [
A
soil — 1™ ‘B
temperature sensor— C

The results is shown in the graph below.

Temperattire (°C)
F 3

.
»

Depth below the soil surface (cm)

(a) Based onthe graph above, state the retationship of ’the‘temperéture and the _depth of
the soil. {1m] ‘ | ' '
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Animal X has big ears and thick fur. It lives in the desert where the days are hot and
the nights are cold. It stays underground in the tunnel during the day.

Animal X

(b) Explain how staying underground in the day helps Animal X, [1m]

(c) Describs how a structural adaptation of Animal X helps it to keep cool. [1m]

{(d) Describe how Animal AX keeps warm at night. [1m]
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34. Lim Teck received the following device after participating in an emergency exercise,
The sofar panels trap sunlight which powers the device to work as a torch and a radio.

radio

torch

""E\jjj'-_—“ solar panels

&

(@) Complete the energy conversion when the davice is using the energy from the solar

panels. [1m]
energy in the energy in the wires energy in the torch
solar panels +

enargy in the radio

The device can also be powered by turning the hand crank continuously.

Hand crank

radio

torch ——@ ' W Solar toanél
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{c) Without adding or removing any part of the device, state one way fo increase the
brightness of the torch. [1m]
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35 (a) State a difference between evaporation and beiling. [1m]

Charles filled two identical containers with the same amount of water and left them
at two different locations.

After a few hours, he measured and recorded the amount of water left in each

container.

end of experiment
Ameunt |

of water
(mi)

Time (minutes)

(b) Explain why the changes in the water level in A and B are different. [1m]
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Charles used a fan shown below to coal himself. When the fan was switched on,
mist comes out through the nozzle.

fan

nozzig to
relaase mist

When he held the fan in front of his face and switched it on, the mist landed on his
face and within a few minutes, the mist disappeared.

(c) Explain how the fan helps Charles cdo! down. [2m]

(d) The time taken for the mist to disappear was shorter when Charles’ body

temperature was higher. Explain why this is so. [1m}
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36. Lim put the same amount of sand A, B and C into three identical containers.

A 33 e R sty b
S hs £ L £ 2t Tl ek B P e ]
£l I.!l et "'"‘)‘).)‘3".3‘ $WNN:
b 3 rip LI AE NG ML et on |
J,!LI Gt ERE 8 S R i B  irativtri i arinia |
- k4 4 49 -t
RiALe l.".".’{'l'-_":"t' 3 h LG54 |
Priel L A
t 1 0, 54,4, T T T
LIS 1 q
il \'q'{.al‘. ‘:‘r:}‘)‘: 554 .
FrFEFeL r P ned LSS A

Then he added the same amount of water into the containers before covering them. After
twenty minutes, the water level is shown below.

IITSIIAS cover 7

pe e wemespd & E pEERRRGeG
PTE I sy R T H viasareesl Rasaioa Dol
's'l'%'}:.}i'ﬂ'\'-".‘:."" P e A
| Zan R DS P R R A A den ot
el v iy .I"-E" }z"z RIS PR ARl
?}.éiﬁ..-h; 2t :f IO LA S
v - P
f:‘fﬁaﬂh.(ﬂhr‘l{ PHLS 50 L A A ]
* r g £ 4t £ £ 64 e g Ao Sy
L S R L Pk kSt R e B aaraery
?‘l-;. }_._;{;( it 2 e te et Er s A gt o g ]
LA Lhtn Lk ERE e DS S e 2 4 B Al e AL
,.,i-_.;_.;,. L IO N S N
ARSI ALY, ittt

Sand A Sand B Sand C

(a) State a property of matter shown by the water in the experiment. [1m]

—

(b) Give a reason why the water level in container B is the lowest. Explain your answer. [2m].
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To get clean water, water from the reservoir is passed through a sand filter so that dirt is
frapped in the filter.

water from reservoir

sand filter

clean water

v

Lim wanted to get clean water from a nearby river by creating his own filter system.

waler from the river

v

Ly TP Y D
Ay a1 Ty
T ’:""‘f‘.l."

sand

clean water

.—— bagker

{c) Which type of sand, A, B or C, should Lim use to get clean water? Explain your answer.
{2m] |
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37. Smith conducted an investigation on materials X and Y. He made iwo flasks out of
material X and Y and filled them with the same amount of coloured water. They were
placed in a container of hot water. The diagram shows the final water tevel in each

flask after five minutes.

final water level
final water level

hot water

(@) To ensure a fair experiment, what should Smith change and keep the same? [1m]

To change.___ —

To keep the same:____ .

(b) Explain why the final water level in flask Y is higher than flask X. [1m]
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The table below shows the highest and lowest temperature which the laboratory and
clinical thermometer can reach.

Type of thermometer Temperature (°C)

Lowest Highest
Laboratory -10 110
Clinical 35 42

(c) Which material X or Y is more suitable to be used in a clinical thermometer? Explain
your answer. [2m]
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38. Ariel plans to set up an experiment in a dark room using different cbjects. A. B. C and Q.
A B c Q
Storybook Mirror Clear glass Ball

Ball Q must be placed between two objects before forming a shadow.

(a) Help Ariel by sketching in the box below how you would form a shadow of Baf G based
on the information given. [2m}

Objects A, Bor C:

Legend: D :
Bail Q:

o
L

Light source

7777777777 7777777 ™

{b) What can Arie} do to the bos'ttion .of the torch to make ‘tl-'_lé-sha_dow bigger? I tmi
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Ariel observed that a device is installed at the entrance of a shop to count the ;mmber of
customers entering the shop.

| ENTRANCE

' light sensor
light source N :

_———"number display

(c) Explain how the device is able to count the number of customers. {1m]

(d)  Arel noted that the device did not accurately count the number of customers who
entered the shop. Suggest one change fo the device so that the counting can be
accurate. [1m)]
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39. Peter did an experiment to find out which type of substance, X, Y or Z, lets the ball roll
down the ramp the fastest. He covered the ramp surface with substance X and measured

the time taken for the ball fo reach the botiom of the ramp.

substance X

He repeated the experiment with similar ramps covered -with substance Y and Z in each

experiment, he pushed the ball with the same amount of force. The results are shown in

the table below.

Tl I
X 8
Y 2
Z 5

Peter tried to push a frolley up a slope as shown in the diagram below

(a) Based on the results of his experiment, which substance, X, Y or 2. is the most suitable.

for the trolley to stop halfway on the ramp? Explain your answer. [1m]
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Carrom is played on a board where players push a disc at other discs as shown below.

carrom board

(b) After Peter pushed disc A, he observed that disc A moved a short distance and stopped
before it reached disc B. Explain, in terms of forces, why disc A stopped. [1m]

(c) Peter wanted the diécs to move faster on the board. Which substance, X, Y or Z, should
Peter use on the board? Explain your answer. [2m]
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40. Archie constructed a simple flood warning system as shown below. Part X is covered and
Part Y is not covered. When it rains, rainwater will flow into Part Y.

Warning |

lights /

cover

Styrofoam
wrapped with |messmsmeem! | oo
. -"'"". ety 0 ko e e T
metal foil Rt kol k I [ ity Rty
_______________________________________________ T ..'i:;;
(a) Explain how a heavy rain can cause the warning lights to light up. {2m]
2
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In the diagrams below, the fans and fights are connected in fwo different ways.

Diagram 1
foilet ‘
Power <>
supply 5
L | | [ Key
bedroom | Living room O an
| <> lights
Diagram 2 —  wire
1 toile
B O O ailet L .
Power
supply
SN A
\/ \/
d bedroom Living room

(b) Mark a cross (X ), on Diagram 1 to show the position of a switch that controls the fan in
' the bedroom only. [1m] : : :

(¢} Compare Diagrams -1 and 2.‘-Which electrical circuit arrahgem‘e’nt will make the room
brighter? Explain your answer. [2m]

~ End of Paper ~
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SCHOOL : RIVER VALLEY PRIMARYSCHOOL

LEVEL : PRIMARY 6
SUBJECT : SCIENCE
TERM : 2019 PRELIM.
SECTION A
Q1 Q2 Q3 Q4 Q5 Q6 Q7 Q8 Q9 | Q1o
3 3 4 2 2 2 4 2 1 1
Q11 | Q12 Q13 | Q14 | Q15 Q16 Q17 | Q18 | Q19 | Q20
2 4 1 4 3 3 1 3 3 1
Q21 Q22 Q23 Q24 | Q25 Q26 Q27 Q28
2 1 1 3 4 4 2 2
SECTION B
Q28) |a)TrayAandB
Q34) |a}) Light —> Electrical —* Light
+ sound
b)Most kinetic energy is converted to light energy first to produce the
light. |
bl .| e)Turn off the radio. -
Q36) | a)Matter occu'pies'space.
Q37) |a)Tochange:The* € material
b)To keep th- nount of coloured water.
Q38) |a)> I ‘
b)Ariel could bring the torch nearer to the objects.
Pgl

www.TestPapersFree.com




Q40)

b)

Dlagram 1

hedroom

/.
/

Living room

Pg 2
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Suggested Answer for RVPS Prelims 2019

29b.

30a.

30b.

There is presence of sunlight in Tray D but not in Tray B. Plants in Tray D could

received more sunlight to photosynthesize and thus grew taller.

The decomposers break down the dead leaves into simpler substances by which

act as nutrients for the vegetables. . _
There is overcrowding and the weeds compete with the vegetables for suniight,
water, space and hutrients.

{Do not mention air or food. Air is all around unless it is in an enclosed or airtight place)

3ia.

31b.

32a.

32b.
32c.

33a.
33h.
33c.

33d.

The population of A will decrease as it cannot photosynthesize as it receives less
sunlight. ‘
{start food chain with A so A must be a food producer.)

B eats A, When A increases, there will be more A for B to feed on so B increases

oo,

The roots need to take in air from the surrounding because there is not enough

alr for the roots/plant in the soil.

The roots of the trees hold on to the soll so it will not be washed away easily.

‘The fish hides among the roots to escape from their predators.

When the depth of the soil increases, the temperature decreases,

- {Take ﬁote of cause and effect)

The temperature underground i* fower than above so by staying underground,

Animal X will gain Jess h "cooler.

Animat X has bir 38 heat to tﬁe surroundings more quickiy
thus help”

Animal X h _1/2m}. There is air trapped in the thick fur and air is a poor

conductor oy _«¢. This will help Animal X lose heat stower to the surroundings,
keeping it warm at night.
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353.

35b.
35c.

35d.

36b.

36¢c.

37b.

37c¢.

38c.

38d.

Evaporation is at any temperature / all temperatures while boiling is at a fixed

temperature.

OR

Evaporation occurs onthesurface of the Hquid while boiling gccurs

throughout/wholé the liguid

Rate of evaporation was faster in B than A.
When the mist lands on Charles’ face, it gained heat from his face and

evaporated. Charles’ face lost heat and thus helps him to.cool-down.

The mist gains heat faster and gvaporates faster when Charles’ body temperature

was higher.

The sand in B has the most air spaces {1m} between them, thus altowing most

water to fill up the spaces {1m), resulting in the lowest water level.

Choose: Sand A.

Evidence: Container with Sand A has the hizhest water level which means it has

the least air spaces (1m),

Concept: Thus it will be able to allow the jeast dirt to pass through (1m}.

Y is a better conductor of heat, allowing the water to gain heat faster and expand

faster.

Material Y. Material Y is more sensitive to temperature change {1m) as it gains

heat faster and expands more (im). -

The light sensor is ur  light when blocked by the customer thus
each time tH _stomer is being counted {on the number
display).

Lower both th _gntsource and light sensor to a suitable height far both children

and adults.
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39za.

Choose: Substance X.

Evidence: The ball took the longest time to roll down the ramp, meaning there is

most amount of friction between the ball and ramp.

Concept: Hence ‘if is most suitable to be used to stop the trolley on ramp as it will

have the most amount of friction between the ramp and the wheels of the trolley.

39b. The pushing force could not averceme the friction force between disc A and the

35¢,

40a.

40c.

hoard.

Choose: Substance Y.
£vidence: The ball toc;k the shortest time to roll down the ramp, showing it has
the least friction between the ball and the ramp.

Concept: So it will be mast suitable to use on the board to create least friction
between the disc and the board so it will move faster.

The heavy rain caused the water level in X to increase, pushing the styrofoam
wrapped with metal foil upwards to touch the wire. As the metal foil is a
conductor of electricity, this will form a closed circuit, allowing electricity to ﬂow
through the circuit to light up the waming lights.

Diagram 1 will make the room brighter. The lights are in parallel arrangement and

thus the brightness for each bulb will be brighter than the bulbs in the series
arrangement. :
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